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(iii) (x) (Ex 
= rx)

([,x) (Tx . Fx) /e (x) @x=Tx)

7
[This questrcfi paper contains l2 printed pa$es.]
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10. Prove the invalidity of the following by constructing a
rnodel containing two individuals. (Any two) (5,5)

a qkrit- sr+ rird -cr-i fr.oRfu( + i[*rdr uko air
(+€ a)

(i) ( gx) (Ax . Bx)

(trx) (Ax . Cx) h (Sx) @x. cx)

(il) (x) (Px 
= ex)

Gk) (Px. Rx) /.'. (x) (Rx = Qx)

(iii) 
1x1 1qx = -px)

(gx) (lyfi(. ex)
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6rit * frq fr{rr

Eir cFr- qrr + ffi A sct ftq qq ftulftn rqn< q< Brrir

sr-pcrofrfuq r

qrfrvr+ erM *r

Eq y:r+ q? ifir irrt stM qr G-fr ffi \6 rilqr i fffrq AH{
ffi Tf,t tfi {rtzFr cfi & *nr arBs r

(a) Determine the Validity/l nvalidity of Any one of
the following argument form by the Truth Table'
Method: (5)

ffituo gffi { t ffi \-6 6 +rdr ,/ sr&rdr

Tsdr {riff EE ara FulR'a qi :

p'(q= r)

/.'. -(-q v r) =-p

11

*+ ffi ilR t {qrar toi i r(Tx, Cx)

(v) Most Indians believe in rebirth ( lx' Rx )

i[86-fi qr.frq si-Sq n fr'q{ r€t ir ( lx, Rr )

(vi) Not all mangoes are sweet: (Mx, Sx)

stft eIH ffa -re Ai r (Mx, Sx)

Construct a Formal proof of validity of the following

(Any TWO): (5' 5)

ffiA's( d Atrdr qI girqlR6.rcrq +cri 6t (+€ a)

(i) (ax) (Ax ' Bx)

(x) ( Bx: Cx) /;. (flx) (Cx'Ax)

(ii) (x) (Px = Qx)

(x) (Qx=-Rx)

, 865'

1.

2

3.
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/.'. (x) (Rx : -Px)
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Symbolize the following sentences by using suggested

notations of propositional functions and quantifiers'

(Any Five) (5)

ffiFd( srq+ d ildsrflrffio sfi+ ofu qftqFrd +
fttrq ffi Em effi + frftq | (+{ qrq)

(i) Only members are allowed to go inside. (Mx,

Gx)

dqo e-{d' ql ff +t-m sA * 3rtcft il
(Mx, Gx )

(ii) There are no golden mountains.. ( Gx, Mx )

+{ lstrc {fu {er ir (Gx, Mx )

(iii) Metals are never transparent. (Mx, Tx)

wgv orft :ft qr<ff qff ffi t (Mx, Tx)

p v (p 3-q)

p.r !:. -(q= -P)

(b) Determine the logical status of the following

ffifr( ffi 3lr6n 6 iltr6 ftqR Rum( 41

(p=q) = t* (p' -q)'-CP' q)l

OR

Srqar

OR

J
COLLE

NewDc

I

t

(iv) Tigers belong to the Cat family. (Tx, Cx)

3lSrdr

o -l' O

$ri'

statement form:

t!
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(T, B)

(iii) Some carpenters are
rnnovative.(C, I)

6=q)=[(-pvq).( pv_q)]

(a) Symbolize any four of the fbllowing: (4)

fuftftH + + ft-iff qn + n_frqif + ftR+l

(D It is not the case that neither India norEngland will play cricket. (I,E)

Y-**frr*EEcrra{dbffd--crldt r (r, r)

t"' 
;::;:;i"ctions 

onrv irthere is a battery in

ffirT sd qt-er * *.+o qE s{d ffi * r

1. Ev (F. c)
2. E=G/... G

Using Truth Tree Method test the validity / invalidity
of the following, (U)

q.i * fre or sq*rr a...+ ffift{d d itro Z sr*tror
qr ctqur Et:

Av(B.C)
-A. E

C:: D /r. D

OR

EI TdT

- (Rv s)
-(R=T) /; -(-T =p)

865 I
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OR

SI9T'II

1. A= (B=C)
2. B =(C =D) i.'. A=@=D)

Construct an Indirect Proof of the following: (6)

Frqfrfrfi 6r Bnrerer rrqtq qqr{r

1. ( H: t). (J=K)
2. (IvK)=L
2. -L i.'.-(HvJ)

OR

E-d {-d{ ara *t I Gr< q-srsrt n-& r

(c, t)

(iv) Both Jaguar and Porsche do not make
motorcycles. (J,P)

stat .gu* ft ftf uiet<Efu-d <& q41 g 
'

(J,P)

(v) A mountaineer is successful if and only il'
she does not give up. (M, G)

vfi Tffi& s.6-d +dr + qE *t *+a qP m rn
+& qormr GA, C)

(b) Prove the validity/invalidity of the following by

i'eductio-ad-absurdum method. (Shorter Truth
Table): (5)

ftM-is-\'q${ E& am ffift{d d iq-dr z
sTatrdr ft-a oir (ag r.rq qrFff ftfu)

BISTAI

P. T. O.
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pr(qvr)
p3*q
l:.pvt

OR

gPTdT

(p = q)=l- (p. qju - G p. q)1

l. (a) Rewrite the fbllowing into stroke function:
(3,3)

ffqRfrEiT 6i Eo- m-qqr + frt t ftrdt

-P=(q=P)

(b) Rewrite the following in terms of negation and dot

(-,. ):

ffik{ q} t-,. ) + q-q{ { ffr t ftG:

(pvq)v-r

865 7

4 (a) Construct a formal proof of validity of Any one of
the following: (71

Frqfrftq-d + + ffi \qi d +trdr qr offi* rqrq

iqn ql

(i)
(P::Q).@vR)

(R =S).@vP)/r. QvS

( ii)
A= (B=C)

C=(D.E) /r.A= (B=D)

5. Construct a conditional proof of the following: (6)

ffiR+r 6r *qrh6 vcrq q{r{ r

COL l-€i

6

1.(AvB)=(C.D)
2.(DvE)=F /.'.A=F

J

t
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